Name: My Math Homework - 1
Monday Tuesday Wednesday Thursday
Find the product. Find the product. Find the product. Find the product.
23 X 536= 54 x 653= 76 X 327= 94 x 845=
Find the quotient. Find the quotient. Find the quotient. Find the quotient.
8240 3)927 12 ) 3624 7)2114
Find the sum. Find the sum. Find the sum. Find the sum.
2.56 93.5 714.29 59.34 + 1.85 =
+ 4.83 + 8.7 + 98.65
Find the difference. Find the difference. Find the difference. Find the difference.
58.84 528.77 1.76 34.59 - 6.84 =
- 278 — 41.68 - .98
Simplify each fraction. Simplify each fraction. Simplify each fraction. Simplify each fraction.
) 6 2 S
10 9 4 27
4 2 L e
12 16 18 27
3 10 A 8
9 40 20 36

List the first 5 multiples of

L

List the first 5 multiples of
12:
10:

3:

List the first 5 multiples of
6:
9:

List the first 5 multiples of
11:

Find the products.

List the factors of

List the factors of

List the factors of

9x 8= 24: 12: 48:
7 X 9=
6 x 8= 36: 2 18:
7x8= 27 45 5:
6 X 9=
7 X 6= 7 50: 16:
7X7=

Solve the expression.
Use Order of Operations.

6Xx7—-8+4

Solve the expression.
Use Order of Operations

3x(20-5)

Solve the expression.
Use Order of Operations

(24+2)+2

Solve the expression.
Use Order of Operations

[2+(9%3)]x3

Add parenthesis to the
expression below.

25—-6Xx2

Add parenthesis to the
expression below.

4+3Xx2-4+2

Write two expressions
where the solution is 19.

Write two expressions
where the solution is 41.

© One Stop Teacher Shop




My Work

Monday Tuesday
Wednesday Thursday
My Progress
MONDAY TUESDAY WEDNESDAY THURSDAY
# of questions # of questions # of questions # of questions
# correct # correct # correct # correct

| need more help
with...

| need more help
with...

| need more help
with...

| need more help
with...
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I\/Ionday

Tuesday

Wednesday

Thursday

Find the product.

23 X 536= 12,328

Find the product.

54 X 653= 35,262

Find the product.

76 X 327= 24,852

Find the product.

94 x 845= 79,430

Find the quotient.

Find the quotient.

Find the quotient.

Find the quotient.

30 309 302 302
8) 240 3)927 12)3624 7) 2114
Find the sum. Find the sum. Find the sum. Find the sum.
2.56 93.5 714.29 59.34 + 1.85=
+ 483 7.39 + 8.7 102.2 + 98.65 812.94 61.19
Find the difference. Find the difference. Find the difference. Find the difference.
58.84 56.06 528.77 487.09 1.76 .78 34.59 - 6.84 =
— 2.78 — 41.68 — .98 27.75
Simplify each fraction. Simplify each fraction. Simplify each fraction. Simplify each fraction.
5 1 6 2 2 1 9 1
10 2 9 3 4 2 27 3
4 L 2 4 6 4 i 7
12 3 16 8 18 3 27 27
3 L 10 4 4 = 8 Z
9 3 40 4 20 5 36 9
List the first 5 multiples of List the first 5 multiples of List the first 5 multiples of List the first 5 multiples of
1. 1,2,3,4,5 12: 12, 24, 36, 48, 60 6: 6,12, 18, 24, 30 11: 11, 22, 33, 44, 55

4: 4,8,12, 16, 20
5: 5,10, 15, 20, 25

10: 10, 20, 30, 40, 50
3 3,6,9,12,15

9: 9,18, 27, 36, 45
7. 7,14, 21, 28, 35

8: 8,16, 24, 32, 40
2: 2,4,6,8,10

Find the products.

9x8= 72
7x 9= 63
6 x 8= 48
7x 8= 56
6x9= 54
7x 6= 42
7 X 7= 49

List the factors of
24:1,2,3,4,6,8,12, 24
36:1,2,3,4,6, 9,12,

18, 36
27:1,3,9, 27
7:1,7

List the factors of
12: 1,2,3,4,6,12
2: 1,2
45: 1,3,5,9, 15,45
50: 1, 2,5, 10, 25, 50

List the factors of
1,2,3,4,6,8, 12, 16,

24, 48

18:1,2,3,6,9, 18
5:1,5

16:1, 2,4, 8, 16

48:

Solve the expression.
Use Order of Operations.

6X7—-8+4=
40

Solve the expression.
Use Order of Operations.

3x(20-5)=
45

Solve the expression.
Use Order of Operations.

(24+2)+2=
13

Solve the expression.
Use Order of Operations.

[2+(9%3)]x3=
87

Add parenthesis to the
expression below.

25 - (6 2)

Add parenthesis to the
expression below.

4+(3x2)—(4=2)

Write two expressions where
the solution is 19.

Write two expressions
where the solution is 41.
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